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1. A. like B. five C. nice D. give ()

2. A.put B. cup C. but D. sun ()

3. A. eat B. sea C. great D. tea ()

4. A. short B. work C. report D. sport ()

5. A. hear B. near C. dear D. learn ()

6. A. large B. girl C. glad D. game ()
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7. Mary usually gets up at six in the morning.

A. FEB. ®mKC EBEx ()



8. Li Gang is looking for his dictionary.

A. FH&B. BEC AN ()

9. Tom,please go to Mr Green ‘s office at once.

A. MBTB. TEIC. —% ()

10.1t ’ swarm here.You ‘d better take off your coat.

A £EZB B C BT ()

11. Miss Evans taught us English last year.

A =5 B. 4FC. HAFE ()
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12. Jack ’ s fatheris doctor.

A.aB.an C.some D./ ()

13. He often does some washing Sunday.



A.atB.inC.onD. by ()

14. This room 1s ours,and that one 1s

A. they B. them C. their D. theirs ()

15. Tom is boy in his class.

A. tall B. taller C. tallest D. the tallest ()

”» 13

16. “Can you come here next Friday?

A.can ‘tB.mustn ’ tC.needn ‘tD.may not ()

17. Did you the football match last night?

A. see B. watch C. look D. read ()

18. There many high buildings in this city.

A.is B. are C. have D. has ()

19. John has two brothers. One 1s an artist, 1S a scientist.

A. the others B. another C. the other D. others ()

20. The man asked the policeman

A. let him to go B. to let him to go

Sorry,l



C. let him go D. to let him go ()

21. Please page 54 and read Lesson Twelve.

A. turn to B. turn into C. turn in D. turn on ()

22.1 when she knocked at the door.

A. cook B. cooks C. was cooking D. am cooking ()

23. My hair is too long. I " m going to have it

A. cutting B. cut

C.cuts D.tocut ()

24. He did not go home he finished the work.

A. if B. because C. until D. since ()

25. 1t me about forty minutes to do my homework every day.

A. keeps B. uses C. spends D. takes ()

26. The woman was tired that she couldn ‘t walk on.

A. so B. too C. very D. quite ()

27. We are busy our lessons these days.



A. prepare B. preparing C. to prepare D. prepared ()

28. Do you know ?

A. where does he live B. where he lives

C. he where lives D. he lives where ()

29. When he got to the station, the train for a long time.

A. had been away B. had left C. has been away D. has left

30.1 7 11 go with you if I free tomorrow.

A. will be B. shall be C. am D. was ()

31. Doctor: What ‘s your trouble, young man?

Bob:
A.1 ’ 1l be fine soon B. I think it ‘s quite cold
C.1 ’ m worried about my mother D. I ‘ve got a headache ()
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(A)

Once there was no zero( ). To write the number sixty-three, people wrote 63. To
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write six hundred and three, people wrote 6 3. The space was there to mean not

any” tens. Sometimes people did not remember the space. It was hard to see and to

read.

Later people used a dot( /&) to hold the space. Six hundred and three looked like

this 6 * 3. But the dot was hard to see.So people put a circle around it like this

6(©3. Then people could see the dot. They remembered the space.

At lastonly  the circle around the dot was used.It was like a zero. This is one story

of how the zero came to be used.

Nowzero has manyimportant uses. Zero tells howmany. Can you tell some other ways

zero 1s used?
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32. At first, zero was not used by people. ()

The space between 6 and 3 was easy to see and to read. ()



33. When people wrote eight hundred and nine, they would put a cirle

with a dot in it between 8 and 9. ()

34. Zero came from the circle around the dot. ()

35.Zeroisn ’ tuseful in our life. ()

(B)
Waston won his most important game and became Southern Chess Master ( EEIE &N
Jifi) in 1977. He was given the silver ( 4R) cup.

“Itisn  ‘trightly mine, 7 he said, when he was holding the cup. “It was won two

years ago when I was on holiday in

“A family was staying at my hotel ( 7% 7E) at that time. Mrs Prag, the mother, was
told that I played chess; and she begged me to give her young son a game. ‘He’
sonly ten. ’ she said, ‘I ‘ve been told that he plays quite well. ’

“Well,as you can guess, I wasn " ttoo happy. A player likes the opponent ( Xt )

to play as well as he does. But it was holiday time and I agreed to play. We placed

the board (12 £) in the garden. The game began. I hoped it would be quick and

so 1t was.



“ 1 soon knew that David Prag was no learner. After ten minutes his sister came

outside and began to play tennis against a wall.The boy seemed to lose interest in

our game. He moved a piece ( # F) without care. I gave my attention to the board.
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‘Call me when you are ready, Mr Watson, " he said.

“When I was ready?I looked up.He had gone off to play with his sis- ter.I studied

the board and found I was driven into corner.So it went on with David: a quick

move, then tennis, back to the board,then back to his sister.  Mydifficult  condition

became impossible to change. I was beaten,oh so easily,by a ten-year-old chess

player.He was the winner in twenty-eight minutes.

“David Prag: a name to remember. I had a chance to use his game today, and it won

this cup for me. Tohim, of course, it is only one of a hundred, or perhaps a thousand,

”»

winning games.
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36. When Mr Watson said, “Itisn  ‘t rightly mine. It was won +” he

meant two years before.

A. he had played chess with a little boy for twenty-eight minutes



B. he had had a chance to take part in an important game

C. he had learned how to play chess from a child

D. he had learned a good game from a child ()

37. Befor the game, Mr Watson was quite sure that

A. the boy played as well as he did

B. he would be Southern Chese Master two years later

C. he could win the game easily

D. the boy would win the game quickly ()

38. Why did David play tennis while he was playing chess with Watson?

Because he ()

A. had no interest in playing chess with adults ( AN

B. was not good at playing chess

C. liked playing tennis much better than playing chess



39. From the story, we know that

A. David Prag was the real winner

B. Mr Watson was the real winner

C. neither of them was the real winner

D. both of them were the real winners ()

40. Which of the following ( T %) is NOT true?

A. Sometimes young children can beat adults in playing chess.

B. Watson thought he could win the game quickly, and so he did.

C. Watson learned something from David and won the silver cup.

D. Watson would never forget the name of the boy. ()
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Mr and Mrs Moore were invited to a Christmas party at a hotel one year. They (41)

their car outside and went in. Mr Moore had never got drunk ( %) before, so he was

(42) not to drink too much, (43) his friends asked him to drink more (44).

During the party,Mrs Moore found that she had (45) to bring her bag, so she asked

her husband to go out to the car and (46) it for her. He (47) so,but on his way back

to the hotel gate,he heard a car horn( %%\ )) blowing near his own car. He thought

(48) might be in need of help and went over to the car with the (49) . He found a

small black bear sitting in the driving-seat and blowing the horn.

When Mr Moore (50) the party, he told several people about the bear, but of course

they did not believe him and thought he was drunk. Whenhe took them out of the hotel
to (51) that his story was (52), he found that the car with the (53) in it had gone.
There were so many (54) about Mr Moore " s black bear during the next week that he

at last put an advertisement( J~4)in the newspaper; “If anyone saw a black bear
blowing the horn in a car outside the Century Hotel (55) the evening of Christmas

2
.o

Day, please tell

Tow days later (56) Mrs Richards called him and said that she and her husband had

left their pet (Z4#7) bear in their car outside the Century Hotel for a few minutes

that evening, and that (57) he had blown the horn.
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